Chem 11 - Limiting Reagents WorksheetPRIVATE 

In some of the questions, you may be required to find the products based on your knowledge of the six types of reactions.

1. 5.0 grams of Magnesium metal react with 0.140 moles of Iodine.  
a. How many grams of product will form?

b. Which reactant is in excess? 

c. How much of the excess reagent is left over? 

2. 15.0 grams of Magnesium react with 18.0 grams of Aluminum Chloride. 

a. How many moles of Aluminum will result?  
b. How many grams of Aluminum?  

c. What reactant is the limiting reagent? 

3. 0.350 moles of phosphoric acid react with 0.600 moles of magnesium hydroxide.
a. How many grams of water are produced? 

b. What is the limiting reagent? 

c. How much of the excess reagent is left over? 

4. 14.0 g of aluminum chloride are reacted with 20.0 g of Sodium carbonate. 

a. How many grams of each product will form?

b. What is the excess reagent? 

c. How much of the excess reagent will be left over? 

ANSWERS:

1. A) 38.9g of MgI2 will form
B) Mg is in excess

C) 1.60g of Mg will be left over (5.0g is available, and 3.40g is used up in the reaction)
2. A) 0.135 mols of Al will be produced

B) 3.65 g of Al will be produced
C) AlCl3 is the limiting reagent 

3. A) 18.9g of H2O will be produced
B) H3PO4 is the limiting reagent

C) 4.38g of Mg(OH)2 is left over (34.98g is available, and 30.6g is used up in the reaction)

4. A) 12.3g of Al2(CO3)3 and 18.4g of NaCl are produced 
B) Na2CO3 is the excess reagent 

C) 3.30 g of Na2CO3 is left over (20.0 g is available, and 16.7g is used up in the reaction)
